Potencias de 10 (J)

Calcule los siguientes productos y cocientes.

2,94+ 10

2,145+ 10

1,01 x 10

6,12-=10

5,842 x 1000

3,973 x 1000

8,084 +100

9,034 x 10

6,386 x 100

2,383 x 10

8,087 = 100

2,16 x 1000

9,645 x 100

1,854 x 10

6,644 = 100

8,609 =100

7,082 % 1000

0,795 =+ 100

6,022 x 10

3,827+ 100
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Potencias de 10 (J) Respuestas

Calcule los siguientes productos y cocientes.

2,94=10
0,294
2,145+10
0,2145
1,01 x 10
10,1
6,12+10
0,612

5,842 x 1000
5.842

3,973 x 1000
3.973
8,084 100
0,08084

9,034 x 10
90,34

6,386 x 100
638,6

2,383 x 10
23,83

8,087 = 100
0,08087
2,16 x 1000
2.160
9,645 x 100
964, 5
1,854 x 10
18,54
6,644 = 100
0,06644

8,609 = 100
0,08609

7,082 x 1000
7.082
0,795+ 100
0,00795
6,022 x 10
60,22
3,827+ 100
0,03827
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